Key to Exam 3; Finance 4360; Fall 2006


Note:  For all problems requiring calculations, set up but do not solve anything.  “Set up” means write down the appropriate equation and plug in as many numbers as possible.  For multi-step problems, you should refer back to previous steps.
Bonus:  What Excel short-cut is “used to change column width”?  Alt + O + C + W
Short answer questions/problems

Note:  If you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  List (but do not discuss) two of the ways that investment bankers inform potential investors about a new issue of common stock.
2 of:  prospectus, red herring, tombstone advertisement.  

2.  Briefly explain one of the three basic rights of a firm’s stockholders.  
1 of:  residual right to assets and income, control of firm through voting on the board of directors and changes to corporate charter, preemptive right to buy new shares in proportion to current ownership.

3.  In recent years a growing number of firms have gone private.  Often this involves the firm’s equity being purchased by a private equity firm or a hedge fund.  List (but do not discuss) two disadvantages of being publicly owned that may be contributing to this trend.
2 of:  increase in regulation, conflict between stockholders and managers, hostile takeovers possible, increased information reporting requirements.

4.  What is the main benefit of estimating the beta of a new project by using the betas of the firm’s outstanding securities rather than by using historical returns on similar real assets?

Data easier to get as long as public firm.

In answering questions 5 and 6, assume that your boss has asked you to estimate the required return on a new project by calculating the weighted average cost of capital for firms in the same industry as the project.  

5.  What are the potential advantages of using the weighted average cost of capital for firms in the same industry as the project provide rather than your firm’s weighted average cost of capital?
1)  Helps reduce small sample problems, 2) helps when project risk differs from risk of firm’s existing assets.

6.  What are the potential problems of using the weighted average cost of capital for firms in the same industry as the project rather than your firm’s weighted average cost of capital?

1)  new project is likely riskier than identical assets of established firms, 2) likely can’t find comparable firms for truly new projects (or new project may be too different from assets of established firms)
7.  The beta of Home Deport’s outstanding stock is 1.01 and of Home Deport’s outstanding bonds is 0.25.  Home Deport’s outstanding stock has a market value of $250 billion and a book value of $26 billion.  Home Deport’s outstanding bonds have a market value of $6 billion and a book value of $7 billion.  Calculate the beta of Home Deport’s existing assets.
Set up:  
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Solve:  0.99219

8.  What kind of project is likely to be incorrectly rejected if the firm uses its own weighted average cost of capital for the required return on all new projects?
Project less risky than existing assets

9.  According to Modigliani and Miller, what will happen to the expected return on a firm’s stock as the firm increases its leverage?
Increase

10.  On average, what evidence do we have about how stock prices react when firms announce plans to issue debt and repurchase stock?

Increase

Problems/Essays

1.  Assume that when the Democrats come into power in January they immediately raise personal tax rates for everyone and especially for those with above average incomes.  In addition, the Democrats implement a series of protectionist policies against all imported goods.  The resulting trade war with the rest of the world leads to a sharp decline in the profits of all American firms but especially for firms that import and sell products produced outside of the US.  

a.  Graph and discuss how these changes will impact the optimal level of total debt used by firms in the US.

b.  Graph and discuss how these changes will impact the optimal level of debt for the typical individual firm in the US and for a firm that imports most of its products.  (Assume that the two firms in part b had identical expectations regarding profit before the changes and that the importing firms experience an even greater drop in profitability than the typical firm because of the changes.)  

See separate graphs

a.  Optimal total debt falls from 
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.  The expected tax savings for any debt level are lower due to lower expected profits [
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]makes debt even less attractive as investors demand higher pre-tax returns to compensate for the higher taxes.
b.  Optimal debt for the typical firm falls from 
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since lower profits lead to lower expected tax savings per dollar of interest.  The optimal debt for an import firm will fall even further to 
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 due to the greater decline in profits for importers.  
2.  Wal-Buy and CircuitMax are in the same industry.  Wal-Buy has less debt and CircuitMax has more debt than the typical firm in their industry.  Assume that these capital structures are optimal for both firms.  Ignoring all issues related to taxes, discuss the differences between Wal-Buy and CircuitMax that might cause Wal-Buy to optimally have less debt than the industry average but CircuitMax to have more debt than the industry average...despite the firms being in the same industry.

(1) Wal-Buy may have:

a) lower expected profit and cash flow and/or,

b) greater volatility of expected earnings and cash flow.  

=> higher expected bankruptcy costs for Wal-Buy 

Note:  generally too small to have significant impact on capital structure.

=> less confidence in Wal-Buy’s long-term ability to survive

=> higher potential for: lost sales, loss of key employees, and loss of supplier credit.

=> more likely that management will spend resources avoiding bankruptcy rather than maximizing value

=> debt too expensive to issue for Wal-Buy because of greater stockholder-bondholder conflict.

=> covenants more restrictive, more likely to demand convertible debt, higher interest rates

=> Wal-Buy has less surplus cash to create stockholder-manager conflict

=> don’t need debt to:  remove cash from management’s hands so they can’t waste it, keep management’s feet to the fire as they work to avoid bankruptcy, give management a larger percentage of the firm’s stock
(2) Wal-Buy may have more intangible assets
=> intangible assets lose value quickly in financial distress.
(3)  Management at Wal-Buy may own a significant portion of the firm’s stock or have other mechanisms for resolving stockholder mechanisms (compared to CiruitMax)

=> less stockholder-management conflict that needs resolving with debt.
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